

SOME IDENTITIES OF DEGENERATE POLY- q -BERNOULLI AND POLY- q -EULER POLYNOMIALS ARISING FROM λ - q -SHEFFER SEQUENCES

TAEKYUN KIM¹, DAE SAN KIM², AND HYE KYUNG KIM^{3,*}

ABSTRACT. Recently, we introduced the λ - q -umbral calculus which centers around the λ - q -Sheffer sequences and the degenerate q -Sheffer sequences by introducing λ - q -linear functionals and λ - q -differential operators, respectively, instead of λ -linear functionals and λ -differential operators. In this paper, we introduce the degenerate poly- q -Bernoulli polynomials and degenerate poly- q -Euler polynomials and numbers by using the q -polylogarithm function. These new sequences are q -analogues of the degenerate poly-Bernoulli polynomials and degenerate poly-Euler polynomials, respectively. We give interesting combinatorial identities and properties of these new polynomials by using λ - q -umbral calculus.

1. INTRODUCTION

Many mathematicians have studied degenerate versions of some special polynomials and numbers. They have discovered some interesting results for the degenerate Stirling numbers of the first and second kinds, the degenerate Bernstein polynomials, the degenerate Bell numbers and polynomials, the degenerate gamma function, the degenerate gamma random variables, and so on (see [5, 14-17, 20, 22, 26, 28-33, 37]). One of the important tools in the study of degenerate polynomials and numbers is the umbral calculus based on the modern idea of linear functions, linear operators and adjoints, which was laid a rigorous foundation by Rota in the 1970s (see [12, 14, 17-19, 28, 30-33, 40, 41]). Carlitz [6] introduced q -extensions of the classical Bernoulli numbers and polynomials. Since that time, many scholars have studied these and other related subjects (see [1, 2, 4, 7, 8, 12, 13, 18-20, 23-25, 27, 34-36, 42]). Recently, Kim-Kim introduced the λ -umbral calculus [17]. Motivated by this work, Kim-Kim-Kim [28] introduced the λ - q -umbral calculus which centers around the λ - q -Sheffer sequences and the degenerate q -Sheffer sequences by introducing λ - q -linear functionals and λ - q -differential operators, respectively, instead of λ -linear functionals and λ -differential operators. As one of the generalizations of special numbers and polynomials, researches on special numbers and polynomials such as poly-Bernoulli, poly-Euler, poly-Genocchi, and poly-Bell polynomials, etc is being actively conducted (see [3, 7, 9-11, 14, 20, 21, 26, 32, 34, 35, 37, 42]). In this paper, we introduce degenerate poly- q -Bernoulli polynomials and degenerate poly- q -Euler by using polylogarithm functions, which were first introduced by Hardy [11]. The poly- q -Bernoulli polynomials and poly- q -Euler polynomials introduced in this paper are different from there is (22), (23) and (24). Also, the degenerate poly- q -Bernoulli polynomials are different from (25). We give several combinatorial identities and properties of these new polynomials by using λ - q -umbral calculus.

Let q be a fixed real number with $0 < |q| < 1$. The q -analogue of $n (\in \mathbb{N})$ is given by

$$(1) \quad [n]_q = \frac{1 - q^n}{1 - q}, \quad (\text{see [1, 2, 4, 6-8]}).$$

2010 *Mathematics Subject Classification.* 11F20; 11B68; 11B83 .

Key words and phrases. q -exponential functions; q -umbral calculus; λ -umbral calculus; q -Bernoulli polynomials; The q -Euler polynomials.

* is corresponding author.

The q -binomial coefficients are given by

$$(2) \quad \binom{n}{k}_q = \frac{[n]_q!}{[k]_q! [n-k]_q!}, \quad (\text{see [12, 13, 18, 19, 23-25]}).$$

for $n, k \in \mathbb{N} \cup \{0\}$ with $k \leq n$, where $[n]_q! = [n]_q [n-1]_q \cdots [2]_q [1]_q$ and $[0]_q! = 1$.

The q -exponential functions are given by

$$(3) \quad \begin{aligned} e_q(t) &= 1 + \sum_{n=1}^{\infty} \frac{(1-q)^n t^n}{(1-q)(1-q^2) \cdots (1-q^n)} \\ &= \sum_{n=0}^{\infty} \frac{t^n}{[n]_q!}, \quad (\text{see [12, 13, 18, 19, 23-25]}). \end{aligned}$$

Note that $e_q(t) \rightarrow e^t$ as $q \rightarrow 1$.

The q -Bernoulli polynomials, which were studied by Kupershmidt [36], are given by the generating function

$$(4) \quad \frac{t}{e_q(t) - 1} e_q(xt) = \sum_{n=0}^{\infty} B_{n,q}(x) \frac{t^n}{[n]_q!}, \quad (\text{see [1, 4, 18]}).$$

When $x = 0$, $B_{n,q}(0) = B_{n,q}$ is called the n -th q -Bernoulli number.

In [24], Kim considered the q -Euler polynomials given by the generating function

$$(5) \quad \frac{2}{e_q(t) + 1} e_q(xt) = \sum_{n=0}^{\infty} E_{n,q}(x) \frac{t^n}{[n]_q!}, \quad (\text{see [19, 24]}).$$

For $x = 0$, $E_{n,q} = E_{n,q}(0)$, are called the q -Euler numbers.

For any nonzero $\lambda \in \mathbb{R}$, the degenerate exponential function is defined by

$$(6) \quad e_{\lambda}^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}}, \quad e_{\lambda}(t) = (1 + \lambda t)^{\frac{1}{\lambda}}, \quad (\text{see [14-17, 26, 29-33]}).$$

By Taylor expansion, we get

$$(7) \quad e_{\lambda}^x(t) = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see [14-17, 26, 29-33]}),$$

where $(x)_{0,\lambda} = 1$, $(x)_{n,\lambda} = x(x-\lambda)(x-2\lambda) \cdots (x-(n-1)\lambda)$, ($n \geq 1$).

Recently, we considered the degenerate q -exponential functions which are given by

$$(8) \quad e_{q,\lambda}^x(t) = \sum_{n=0}^{\infty} \frac{(x)_{n,\lambda}}{[n]_q!} t^n, \quad (\text{see [28]}).$$

When $x = 1$, we have

$$(9) \quad e_{q,\lambda}(t) = e_{q,\lambda}^1(t) = \sum_{n=0}^{\infty} \frac{(1)_{n,\lambda}}{[n]_q!} t^n.$$

When $q = 1$, we note that

$$e_{1,\lambda}^x(t) = e_{\lambda}^x(t) \quad \text{and} \quad \lim_{\lambda \rightarrow 0} e_{q,\lambda}^x(t) = e_q(xt).$$

For $r \in \mathbb{N}$, we consider the degenerate q -Bernoulli polynomials of order r given as follows:

$$(10) \quad \left(\frac{t}{e_{q,\lambda}(t) - 1} \right)^r e_{q,\lambda}^x(t) = \sum_{n=0}^{\infty} B_{n,q}^{(r)}(x|\lambda) \frac{t^n}{[n]_q!}, \quad (\text{see [28]}).$$

When $x = 0$, $B_{n,q}^{(r)}(\lambda) = B_{n,q}^{(r)}(0|\lambda)$ are called the degenerate q -Bernoulli numbers of order r .

When $r = 1$, $B_{n,q}(x|\lambda) = B_{n,q}^{(1)}(x|\lambda)$ are called the degenerate q -Bernoulli polynomials.

When $\lambda \rightarrow 0$, $\lim_{\lambda \rightarrow 0} B_{n,q}^{(r)}(x|\lambda) = B_{n,q}^{(r)}(x)$ are called q -Bernoulli polynomials of order r .
 From (8) and (10), we get

$$(11) \quad B_{n,q}^{(r)}(x|\lambda) = \sum_{l=0}^n \binom{n}{l}_q B_{n-l,q}^{(r)}(\lambda)(x)_{l,\lambda}.$$

For $r \in \mathbb{N}$, we also consider the degenerate q -Euler polynomials of order r given by the generating function

$$(12) \quad \left(\frac{2}{e_{q,\lambda}(t) + 1} \right)^r e_{q,\lambda}^x(t) = \sum_{n=0}^{\infty} E_{n,q}^{(r)}(x|\lambda) \frac{t^n}{[n]_q!}, \quad (\text{see [28]}).$$

When $x = 0$, $E_{n,q}^{(r)}(\lambda) = E_{n,q}^{(r)}(0|\lambda)$ are called the degenerate q -Euler numbers of order r .

When $r = 1$, $E_{n,q}(x|\lambda) = E_{n,q}^{(1)}(x|\lambda)$ are called the degenerate q -Euler polynomials.

When $\lambda \rightarrow 0$, $\lim_{\lambda \rightarrow 0} E_{n,q}^{(r)}(x|\lambda) = E_{n,q}^{(r)}(x)$ are called q -Euler polynomials of order r .

From (8) and (12), we get

$$(13) \quad E_{n,q}^{(r)}(x|\lambda) = \sum_{l=0}^n \binom{n}{l}_q E_{n-l,q}^{(r)}(\lambda)(x)_{l,\lambda}.$$

For $n \geq 0$, it is well known that the Stirling numbers of the first and second kind, respectively, are given by

$$(14) \quad (x)_n = \sum_{l=0}^n S_1(n,l)x^l \quad \text{and} \quad \frac{1}{l!}(\log(1+t))^l = \sum_{n=l}^{\infty} S_1(n,l) \frac{t^n}{n!}, \quad (\text{see [5, 16, 22]}),$$

and

$$(15) \quad x^n = \sum_{l=0}^n S_2(n,l)(x)_l \quad \text{and} \quad \frac{1}{l!}(e^t - 1)^l = \sum_{n=l}^{\infty} S_2(n,l) \frac{t^n}{n!}, \quad (\text{see [5, 16, 22]}),$$

where $(x)_n = x(x-1)\dots(x-n+1)$, $(n \geq 1)$ and $(x)_0 = 1$.

Moreover, the degenerate Stirling numbers of the first and second kind, respectively, are given by

$$(16) \quad (x)_n = \sum_{l=0}^n S_{1,\lambda}(n,l)(x)_{l,\lambda} \quad \text{and} \quad \frac{1}{l!}(\log_{\lambda}(1+t))^l = \sum_{n=l}^{\infty} S_{1,\lambda}(n,l) \frac{t^n}{n!}, \quad (\text{see [16, 22]}),$$

and

$$(17) \quad (x)_{n,\lambda} = \sum_{l=0}^n S_{2,\lambda}(n,l)(x)_l \quad \text{and} \quad \frac{1}{l!}(e_{\lambda}(t) - 1)^l = \sum_{n=l}^{\infty} S_{2,\lambda}(n,l) \frac{t^n}{n!}, \quad (\text{see [16, 22]}).$$

Here we recall $\log_{\lambda}(1+t) = \frac{1}{\lambda}((1+t)^{\lambda} - 1)$.

In [27], the q -Stirling numbers of the second kind are given by

$$(18) \quad \frac{1}{[l]_q!}(e_q(t) - 1)^l = \sum_{n=l}^{\infty} S_{2,q}(n,l) \frac{t^n}{[n]_q!}.$$

When $q = 1$, $S_{2,1}(n,l) = S_2(n,l)$.

We naturally consider the degenerate q -Stirling numbers of the second kind given by

$$(19) \quad \frac{1}{[l]_q!}(e_{q,\lambda}(t) - 1)^l = \sum_{n=l}^{\infty} S_{2,q}(n,l|\lambda) \frac{t^n}{[n]_q!}.$$

When $\lim_{\lambda \rightarrow 0} S_{2,q}(n, l|\lambda) = S_{2,q}(n, l)$. When $q = 1$, $S_{2,1}(n, l|\lambda) = S_{2,\lambda}(n, l)$.

The polylogarithm functions are given by

$$(20) \quad \text{Li}_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^k}, \quad (k \in \mathbb{Z}), \quad (\text{see [11]}).$$

Note that $\text{Li}_1(x) = \sum_{n=1}^{\infty} \frac{x^n}{n!} = -\log(1-x)$.

The q -polylogarithm functions are given by

$$(21) \quad \text{Li}_{k,q}(x) = \sum_{n=1}^{\infty} \frac{x^n}{[n]_q^k}, \quad (k \in \mathbb{Z}), \quad (\text{see [34, 35]}).$$

We note that $\lim_{q \rightarrow 1} \text{Li}_{k,q}(x) = \text{Li}_k(x)$.

The q -poly-Bernoulli numbers are defined by

$$(22) \quad \frac{\text{Li}_{k,q}(1 - e^{-t})}{1 - e^{-t}} = \sum_{n=0}^{\infty} b_{n,q}^{(k)} \frac{t^n}{n!}, \quad (\text{see [35]}).$$

In [34], the generating function of the q -analogue of poly-Euler polynomials $E_{n,q}^{(k)}(x)$ and poly-Bernoulli polynomials $B_{n,q}^{(k)}(x)$ ($n = 0, 1, 2, \dots$), respectively, are given as follows:

$$(23) \quad \frac{2\text{Li}_{k,q}(1 - e^{-t})}{t(e^t + 1)} e^{xt} = \sum_{n=0}^{\infty} E_{n,q}^{(k)}(x) \frac{t^n}{n!} \quad \text{and} \quad \frac{\text{Li}_{k,q}(1 - e^{-t})}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_{n,q}^{(k)}(x) \frac{t^n}{n!}, \quad (\text{see [34]}).$$

For $\lambda, q \in \mathbb{C}$ with $\lambda, q \neq 0$ and $k \in \mathbb{Z}$. The poly-Bernoulli polynomials with a q parameter $B_{n,q}^{(k)}(x)$ are defined by Cenkci [7]

$$(24) \quad \frac{q\text{Li}_k\left(\frac{1 - e^{-qt}}{q}\right)}{1 - e^{-qt}} e^{xt} = \sum_{n=0}^{\infty} b_{n,q}^{(k)}(x) \frac{t^n}{n!}, \quad (\text{see [7]}).$$

Kim et al considered the fully degenerate poly-Bernoulli polynomials with a q parameter $b_{n,q}^{(k)}(\lambda, x)$ given by the generating function

$$(25) \quad \frac{q\text{Li}_k\left(\frac{1 - (1 + \lambda t)^{-\frac{q}{\lambda}}}{q}\right)}{1 - (1 + \lambda t)^{-\frac{q}{\lambda}}} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} b_{n,q}^{(k)}(\lambda, x) \frac{t^n}{n!}, \quad (\text{see [20]}).$$

2. THE FUNDAMENTAL PROPERTIES OF λ - q -UMBRAL CALCULUS

In this section, we review briefly the fundamental properties of λ - q -umbral calculus ([28]). we introduce a family of λ - q -linear functionals on the space of polynomials and prove some basic theorems and propositions on these functionals.

Throughout this section, λ is arbitrary but is a fixed nonzero real number.

Let $f(t) = \sum_{l=0}^{\infty} \frac{a_l}{[l]_q!} t^l \in \mathfrak{F}$. Then each $\lambda \in \mathbb{R}$ gives rise to the linear functional $\langle f(t) | \cdot \rangle_{\lambda,q}$ on \mathbb{P} , called λ - q -linear functional given by $f(t)$, which is defined by

$$(26) \quad \langle f(t) | (x)_{n,\lambda} \rangle_{\lambda,q} = a_n, \quad (n \geq 0), \quad (\text{see [28]}).$$

From (26), we note that

$$(27) \quad \langle t^l | (x)_{n,\lambda} \rangle_{\lambda,q} = [n]_q! \delta_{n,l}.$$

By (26), for $f(t) \in \mathfrak{F}$ and $p(x)$ in \mathbb{P} , we have

$$(28) \quad f(t) = \sum_{l=0}^{\infty} \frac{\langle f(t)|(x)_{l,\lambda} \rangle_{\lambda,q}}{[l]_q!} t^l$$

and

$$(29) \quad p(x) = \sum_{k=0}^{\infty} \frac{\langle t^k|p(x) \rangle_{\lambda,q}}{[k]_q!} (x)_{k,\lambda}.$$

From (15) and (16), we note that

$$(30) \quad x^n = \sum_{l=0}^n S_2(n,l)(x)_l = \sum_{l=0}^n \sum_{m=0}^l S_2(n,l)S_{1,\lambda}(l,m)(x)_{m,\lambda}.$$

Thus, by (26), (30) and (31), we have

$$(31) \quad \langle f(t)|x^n \rangle_{\lambda,q} = \sum_{l=0}^n \sum_{m=0}^l S_2(n,l)S_{1,\lambda}(l,m) \langle f(t)|(x)_{m,\lambda} \rangle_{\lambda,q}.$$

In particular, we get

$$\langle t^k|x^n \rangle_{\lambda,q} = \sum_{l=0}^n \sum_{m=0}^l S_2(n,l)S_{1,\lambda}(l,m) \langle t^k|(x)_{m,\lambda} \rangle_{\lambda,q}.$$

The order $o(f(t))$ of the power series $f(t) (\neq 0)$ is the smallest integer for which a_k does not vanish. If $o(f(t)) = 0$, then $f(t)$ is called an invertible series. If $o(f(t)) = 1$, then $f(t)$ is called a delta series (see [17, 28, 41]).

Let $o(f_l(t)) = l$, for all $l \geq 0$ and let

$$(32) \quad \langle f_l(t)|p(x) \rangle_{\lambda,q} = \langle f_l(t)|q(x) \rangle_{\lambda,q}. \quad \text{Then } p(x) = q(x).$$

For $f(t), g(t) \in \mathfrak{F}$, we have

$$(33) \quad \langle f(t)g(t)|(x)_{n,\lambda} \rangle_{\lambda,q} = \sum_{l=0}^n \binom{n}{l}_q \langle f(t)|(x)_{l,\lambda} \rangle_{\lambda,q} \langle g(t)|(x)_{n-l,\lambda} \rangle_{\lambda,q}, \quad \text{for } n \geq 0.$$

For all $j \geq 0$, let $\deg p_j(x) = j$ and

$$(34) \quad \langle f(t)|p_j(x) \rangle_{\lambda,q} = \langle g(t)|p_j(x) \rangle_{\lambda,q}. \quad \text{Then } f(t) = g(t).$$

For each $\lambda \in \mathbb{R}$ and each nonnegative integer k , we define the λ - q -differential operator on \mathbb{P} on

$$(35) \quad (t^l)_{\lambda,q}(x)_{n,\lambda} = \begin{cases} ([n]_q)_l (x)_{n-l,\lambda} & \text{if } l \leq n, \\ 0 & \text{if } l > n, \end{cases} \quad (\text{see [28]},)$$

where $([n]_q)_l = [n]_q [n-1]_q \cdots [n-(l-1)]_q$.

For any power series $f(t) = \sum_{l=0}^{\infty} \frac{a_l}{[l]_q!} t^l \in \mathfrak{F}$, the λ - q -differential operator given by $f(t)$ is

$$(36) \quad (f(t))_{\lambda,q}(x)_{n,\lambda} = \sum_{l=0}^n \binom{n}{l}_q a_l (x)_{n-l,\lambda}, \quad (n \geq 0).$$

and by linear extension.

Let $f_1(t) = \sum_{j=0}^{\infty} \frac{a_j}{[j]_q!} t^j$ and $f_2(t) = \sum_{l=0}^{\infty} \frac{b_l}{[l]_q!} t^l \in \mathfrak{F}$.

Then we have

$$(37) \quad (f_1(t)f_2(t))_{\lambda,q}(x)_{n,\lambda} = (f_1(t))_{\lambda,q}((f_2(t))_{\lambda,q}(x)_{n,\lambda}).$$

That is $(f_1(t)f_2(t))_{\lambda,q} = (f_1(t))_{\lambda,q}(f_2(t))_{\lambda,q}$.

For $f(t), g(t) \in \mathfrak{F}$ and $p(x) \in \mathbb{P}$, we have

$$(38) \quad \langle f(t)g(t)|p(x) \rangle_{\lambda,q} = \langle g(t)|(f(t))_{\lambda,q}p(x) \rangle_{\lambda,q} = \langle f(t)|(g(t))_{\lambda,q}p(x) \rangle_{\lambda,q}.$$

For $f(t), g(t) \in \mathfrak{F}$ with $o(f(t)) = 1$ and $o(g(t)) = 0$, there exists a unique sequence $s_{n,q}(x|\lambda)$ ($\deg s_{n,q}(x|\lambda) = n$) of polynomials satisfying the orthogonality conditions

$$(39) \quad \langle g(t)f(t)^k|s_{n,q}(x|\lambda) \rangle_{\lambda,q} = [n]_q! \delta_{n,k}, \quad (n, k \geq 0).$$

The sequence $s_{n,q}(x|\lambda)$ is called the λ - q -Sheffer sequence for $(g(t), f(t))$, which is denoted by $s_{n,q}(x|\lambda) \sim (g(t), f(t))_{\lambda,q}$

The sequence $s_{n,q}(x|\lambda)$ is λ - q -Sheffer for $(g(t), f(t))$ if and only if

$$(40) \quad \frac{1}{g(\bar{f}(t))} e_{q,\lambda}^y(\bar{f}(t)) = \sum_{k=0}^{\infty} s_{k,q}(y|\lambda) \frac{t^k}{[k]_q!}, \quad \text{for all } y \in \mathbb{C},$$

where $\bar{f}(t)$ is the compositional inverse of $f(t)$.

Let $s_{n,q}(x|\lambda) \sim (g(t), f(t))_{\lambda,q}$. Then we have

$$(41) \quad (f(t))_{q,\lambda} s_{n,q}(x|\lambda) = [n]_q s_{n-1,q}(x|\lambda), \quad (n \geq 0).$$

Let $s_{n,q}(x|\lambda) \sim (g(t), f(t))_{\lambda,q}$ and $P_{n,q}(x|\lambda) \sim (1, f(t))_{\lambda,q}$. For $h(t) \in \mathfrak{F}$, we have

$$(42) \quad (h(t))_{\lambda,q} s_{n,q}(x|\lambda) = \sum_{k=0}^n \binom{n}{k}_q \langle h(t)|s_{n,q}(x|\lambda) \rangle_{\lambda,q} P_{n-k,q}(x|\lambda).$$

From (8) and (40), we note that

$$(43) \quad (x)_{n,\lambda} \sim (1, t)_{\lambda,q}$$

In particular, when $f(t) = t$, combining (42) with (43), we observe that

$$(44) \quad P_{n,q}(x|\lambda) = (x)_{n,\lambda},$$

and

$$(45) \quad \begin{aligned} [n]_q! \delta_{n,k} &= \langle g(t)t^k|s_{n,q}(x|\lambda) \rangle_{\lambda,q} \\ &= \left\langle t^k|(g(t))_{\lambda,q} s_{n,q}(x|\lambda) \right\rangle_{\lambda,q} = \left\langle t^k|(x)_{n,\lambda} \right\rangle_{\lambda,q}. \end{aligned}$$

From the last equality of (45) and by using (32), we get

$$(46) \quad (g(t))_{\lambda,q} s_{n,q}(x|\lambda) = (x)_{n,\lambda}.$$

Since $e_{q,\lambda}^y(t) = \sum_{k=0}^{\infty} \frac{(y)_{k,\lambda}}{[k]_q!} t^k$, we have

$$(47) \quad \langle e_{q,\lambda}^y(t)|(x)_{n,\lambda} \rangle_{\lambda,q} = \sum_{k=0}^{\infty} \frac{(y)_{k,\lambda}}{[k]_q!} \langle t^k|(x)_{n,\lambda} \rangle_{\lambda,q} = (y)_{n,\lambda}, \quad (n \geq 0).$$

By (47), we have

$$(48) \quad \langle e_{q,\lambda}^y(t)|p(x) \rangle_{\lambda,q} = p(y).$$

Let $s_{n,q}(x|\lambda) \sim (g(t), f(t))_{\lambda,q}$ and $r_{n,q}(x|\lambda) \sim (h(t), l(t))_{\lambda,q}$. Then we have

$$(49) \quad s_{n,q}(x|\lambda) = \sum_{k=0}^n A_{n,k} r_{k,q}(x|\lambda), \quad \text{where } A_{n,k} = \frac{1}{[k]_q!} \left\langle \frac{h(\bar{f}(t))}{g(\bar{f}(t))} (l(\bar{f}(t)))^k | (x)_{n,\lambda} \right\rangle_{\lambda,q}.$$

From (10), (12) and (40), we have λ - q -Sheffer sequences as follows.

$$(50) \quad B_{n,q}^{(r)}(x|\lambda) \sim \left(\left(\frac{e_{q,\lambda}(t) - 1}{t} \right)^r, t \right)_{\lambda,q} \quad \text{and} \quad E_{n,q}^{(r)}(x|\lambda) \sim \left(\left(\frac{e_{q,\lambda}(t) + 1}{2} \right)^r, t \right)_{\lambda,q}.$$

By (41), we note that

$$(51) \quad (t)_{q,\lambda} B_{n,q}^{(r)}(x|\lambda) = [n]_q B_{n-1,q}^{(r)}(x) \quad \text{and} \quad (t)_{q,\lambda} E_{n,q}^{(r)}(x|\lambda) = [n]_q E_{n-1,q}^{(r)}(x), \quad (n \geq 0).$$

3. SOME IDENTITIES OF DEGENERATE POLY- q -BERNOULLI AND POLY- q -EULER POLYNOMIALS ARISING FROM λ - q -SHEFFER SEQUENCES

In this section, we introduce new types of degenerate poly q -Bernoulli polynomials and degenerate poly- q -Euler polynomials, respectively. We show that each of these is represented by a finite linear combination of degenerate q -Bernoulli polynomials, degenerate q -Bernoulli polynomials of order r , degenerate q -Euler polynomials, degenerate q -Euler polynomials of order r or degenerate falling factorials, etc.

First, we consider a new type of degenerate poly q -Bernoulli polynomials defined by

$$(52) \quad \frac{\text{Li}_{k,q}(1 - e^{-t})}{e_{q,\lambda}(t) - 1} e_{q,\lambda}^x(t) = \sum_{n=0}^{\infty} \mathcal{B}_{n,q}^{(k)}(x|\lambda) \frac{t^n}{[n]_q!}, \quad (k \in \mathbb{Z}).$$

When $x = 0$, $\mathcal{B}_{n,q}^{(k)}(\lambda) := \mathcal{B}_{n,q}^{(k)}(0|\lambda)$ are called degenerate poly q -Bernoulli numbers. When $\lambda \rightarrow 0$, we have the generating function of poly- q -Bernoulli polynomials given by

$$(53) \quad \frac{\text{Li}_{k,q}(1 - e^{-t})}{e_q(t) - 1} e_q^x(t) = \sum_{n=0}^{\infty} \mathcal{B}_{n,q}^{(k)}(x) \frac{t^n}{[n]_q!}, \quad (k \in \mathbb{Z}).$$

When $x = 0$, $\mathcal{B}_{n,q}^{(k)} := \mathcal{B}_{n,q}^{(k)}(0)$ are called the poly- q -Bernoulli numbers.

When $q = 1 = k$, we note that $\lim_{\lambda \rightarrow 0} \mathcal{B}_{n,1}^{(k)}(x|\lambda) = B_n(x)$ are the Bernoulli polynomials.

When $q = 1 = k$, we note that $\mathcal{B}_{n,1}^{(1)}(x|\lambda) = B_{n,\lambda}(x)$ are the degenerate Bernoulli polynomials.

When $k = 1$, we have $\mathcal{B}_{n,q}^{(1)}(x|\lambda) = B_{n,q}(x|\lambda)$ are the degenerate q -Bernoulli polynomials.

Second, we consider a new type of degenerate poly- q -Euler polynomials defined by

$$(54) \quad \frac{2\text{Li}_{k,q}(1 - e^{-t})}{t(e_{q,\lambda}(t) + 1)} e_{q,\lambda}^x(t) = \sum_{n=0}^{\infty} \mathcal{E}_{n,q}^{(k)}(x|\lambda) \frac{t^n}{[n]_q!}.$$

When $x = 0$, $\mathcal{E}_{n,q}^{(k)}(\lambda) := \mathcal{E}_{n,q}^{(k)}(0|\lambda)$ are called the degenerate poly- q -Euler numbers.

When $\lambda \rightarrow 0$, we have the generating function of poly- q -Euler polynomials given by

$$(55) \quad \frac{2\text{Li}_{k,q}(1 - e^{-t})}{t(e_q(t) + 1)} e_q^x(t) = \sum_{n=0}^{\infty} \mathcal{E}_{n,q}^{(k)}(x) \frac{t^n}{[n]_q!},$$

when $x = 0$, $\mathcal{E}_{n,q}^{(k)} := \mathcal{E}_{n,q}^{(k)}(0)$ are called the poly- q -Euler numbers.

When $q = 1 = k$, we note that $\lim_{\lambda \rightarrow 0} \mathcal{E}_{n,1}^{(1)}(x|\lambda) = E_n(x)$ are the Euler polynomials.

When $k = 1$, we have $\mathcal{E}_{n,q}^{(1)}(x|\lambda) = E_{n,q}(x|\lambda)$ are the degenerate q -Euler polynomials.

When $q = k = 1$, we note that $\mathcal{E}_{n,1}^{(1)}(x|\lambda) = E_{n,\lambda}(x)$ are the degenerate Euler polynomials.

For $n \geq 0$, from (8), (52) and (54) we observe that

$$(56) \quad \mathcal{B}_{n,q}^{(k)}(x|\lambda) = \sum_{j=0}^n \binom{n}{j}_q \mathcal{B}_{n-j,q}^{(k)}(\lambda)(x)_{j,\lambda}$$

and

$$(57) \quad \mathcal{E}_{n,q}^{(k)}(x|\lambda) = \sum_{j=0}^n \binom{n}{j}_q \mathcal{E}_{n-j,q}^{(k)}(\lambda)(x)_{j,\lambda}.$$

From (40), (52) and (54), we have two λ - q -sheffer sequences as follows:

$$(58) \quad \mathcal{B}_{n,q}^{(k)}(x|\lambda) \sim \left(\frac{e_{q,\lambda}(t) - 1}{\text{Li}_{k,q}(1 - e^{-t})}, t \right)_{\lambda,q}$$

and

$$(59) \quad \mathcal{E}_{n,q}^{(k)}(x|\lambda) \sim \left(\frac{t(e_{q,\lambda}(t) + 1)}{2\text{Li}_{k,q}(1 - e^{-t})}, t \right)_{\lambda,q}.$$

By (46), (58) and (59), we have

$$(60) \quad \left(\frac{e_{q,\lambda}(t) - 1}{\text{Li}_{k,q}(1 - e^{-t})} \right)_{\lambda,q} \mathcal{B}_{n,q}^{(k)}(x|\lambda) = (x)_{n,\lambda}$$

and

$$(61) \quad \left(\frac{t(e_{q,\lambda}(t) + 1)}{2\text{Li}_{k,q}(1 - e^{-t})} \right)_{\lambda,q} \mathcal{E}_{n,q}^{(k)}(x|\lambda) = (x)_{n,\lambda}.$$

Theorem 1. For $s_{n,q}(x|\lambda) \sim (g(t), f(t))_{\lambda,q}$, we have

$$s_{n,q}(x|\lambda) = \sum_{l=0}^n \frac{1}{[l]_q!} \left\langle \frac{1}{g(\bar{f}(t))} (\bar{f}(t))^l \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} (x)_{l,\lambda}.$$

Proof. For $s_{n,q}(x|\lambda) \sim (g(t), f(t))_{\lambda,q}$, by (40) and (41), we observe that, for any $y \in \mathbb{C}$

$$(62) \quad \left\langle \frac{1}{g(\bar{f}(t))} e_{q,\lambda}^y(\bar{f}(t)) \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} \\ = \sum_{l=0}^{\infty} s_{l,q}(y|\lambda) \frac{1}{[l]_q!} \langle t^l | (x)_{n,\lambda} \rangle_{\lambda,q} = s_{n,q}(y|\lambda), \quad (n \geq 0).$$

On the other hand, we note that

$$(63) \quad \left\langle \frac{1}{g(\bar{f}(t))} e_{q,\lambda}^y(\bar{f}(t)) \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} \\ = \sum_{l=0}^n \frac{1}{[l]_q!} \left\langle \frac{1}{g(\bar{f}(t))} (\bar{f}(t))^l \middle| (x)_{n,\lambda} \right\rangle_{\lambda} (y)_{l,\lambda} \\ = \sum_{l=0}^n \frac{1}{[l]_q!} \left\langle \frac{1}{g(\bar{f}(t))} (\bar{f}(t))^l \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} (y)_{l,\lambda}.$$

By (62) and (63), we get the desired result.

□

Theorem 2. For $n \geq 0, k \in \mathbb{N}$, we have

$$\mathcal{B}_{n,q}^{(k)}(1|\lambda) - \mathcal{B}_{n,q}^{(k)}(\lambda) = \sum_{j=1}^n \frac{j! [n]_q!}{n! [j]_q!} (-1)^{n+j} S_2(n, j).$$

Proof. By using (8) and (52), we observe that

$$\begin{aligned} \text{Li}_{k,q}(1 - e^{-t}) &= (e_{q,\lambda}(t) - 1) \sum_{l=0}^{\infty} \mathcal{B}_{l,q}^{(k)}(\lambda) \frac{t^l}{[l]_q!} \\ &= \left(\sum_{m=0}^{\infty} (1)_{m,\lambda} \frac{t^m}{[m]_q!} - 1 \right) \left(\sum_{l=0}^{\infty} \mathcal{B}_{l,q}^{(k)}(\lambda) \frac{t^l}{[l]_q!} \right) \\ (64) \quad &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m}_q (1)_{m,\lambda} \mathcal{B}_{n-m,q}^{(k)}(\lambda) - \mathcal{B}_{n,q}^{(k)}(\lambda) \right) \frac{t^n}{[n]_q!} \\ &= \sum_{n=1}^{\infty} \left(\mathcal{B}_{n,q}^{(k)}(1|\lambda) - \mathcal{B}_{n,q}^{(k)}(\lambda) \right) \frac{t^n}{[n]_q!}. \end{aligned}$$

On the other hand, from (15) and (21), we have

$$\begin{aligned} \text{Li}_{k,q}(1 - e^{-t}) &= \sum_{j=1}^{\infty} \frac{(1 - e^{-t})^j}{[j]_q!} = \sum_{j=1}^{\infty} \frac{j! (-1)^j}{[j]_q!} \sum_{n=j}^{\infty} S_2(n, j) \frac{(-1)^n t^n}{n!} \\ (65) \quad &= \sum_{n=1}^{\infty} \left(\sum_{j=1}^n \frac{j! [n]_q!}{n! [j]_q!} (-1)^{n+j} S_2(n, j) \right) \frac{t^n}{[n]_q!}. \end{aligned}$$

Therefore, by comparing the coefficients of (64) and (65), we get what we wanted.

□

Theorem 3. For $n \geq 0$ and $k \geq 1$, we have

$$\mathcal{B}_{n,q}^{(k)}(x|\lambda) = \sum_{j=0}^n \sum_{l=1}^{n-j+1} \frac{[n]_q! l!}{[j]_q! [l]_q! (n-j+1)!} (-1)^{l+n-j+1} S_2(n-j+1) B_{j,q}(x|\lambda).$$

Where $B_{n,q}(x|\lambda)$ are the degenerate q -Bernoulli polynomials.

Proof. By (10), (15), (21), (58) and Theorem 1, we observe that

$$\begin{aligned}
 \mathcal{B}_{n,q}^{(k)}(u|\lambda) &= \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} e_{q,\lambda}^u(t) \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} \\
 &= \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{t} \middle| \left(\frac{t}{e_{q,\lambda}(t)-1} e_{q,\lambda}^u(t) \right)_{\lambda,q} (x)_{n,\lambda} \right\rangle_{\lambda,q} \\
 &= \sum_{j=0}^n \binom{n}{j}_q B_{j,q}(u|\lambda) \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{t} \middle| (x)_{n-j,\lambda} \right\rangle_{\lambda,q} \\
 (66) \quad &= \sum_{j=0}^n \binom{n}{j}_q \frac{1}{[n-j+1]_q} B_{j,q}(u|\lambda) \langle \text{Li}_{k,q}(1-e^{-t}) | (x)_{n-j+1,\lambda} \rangle_{\lambda,q} \\
 &= \sum_{j=0}^n \binom{n}{j}_q \frac{1}{[n-j+1]_q} B_{j,q}(u|\lambda) \sum_{i=1}^{n-j+1} \sum_{l=1}^i \frac{l!(-1)^{l+i}}{i! [l]_q!} S_2(i, l) \langle t^i | (x)_{n-j+1,\lambda} \rangle_{\lambda,q} \\
 &= \sum_{j=0}^n \sum_{l=1}^{n-j+1} \binom{n}{j}_q [n-j]_q! \frac{l!(-1)^{l+n-j+1}}{(n-j+1)! [l]_q!} S_2(n-j+1, l) B_{j,q}(u|\lambda).
 \end{aligned}$$

From (66), we get the desired identity. □

Theorem 4. For $n \geq 0$ and $r, k \geq 1$, we have

$$\mathcal{B}_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n \left(\sum_{j=0}^{n-l} \binom{n}{l}_q \binom{n-l}{j}_q \binom{j+r}{r}_q \right)^{-1} S_{2,q}(j+r, r|\lambda) \mathcal{B}_{n-l-j,q}^{(k)}(\lambda) B_{l,q}^{(r)}(x|\lambda).$$

where $B_{n,q}^{(r)}(x)$ are the degenerate q -Bernoulli of order polynomials.

Proof. We consider two λ - q -Sheffer sequences as follows:

$$(67) \quad \mathcal{B}_{n,q}^{(k)}(x|\lambda) \sim \left(\frac{e_{q,\lambda}(t)-1}{\text{Li}_{k,q}(1-e^{-t})}, t \right)_{\lambda,q} \quad \text{and} \quad B_{n,q}^{(r)}(x|\lambda) \sim \left(\left(\frac{e_{q,\lambda}(t)-1}{t} \right)^r, t \right)_{\lambda,q}.$$

From (49), and (67), we have

$$(68) \quad \mathcal{B}_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n z_{n,l} B_{l,q}^{(r)}(x|\lambda),$$

where, by (19) and (52), we get

$$\begin{aligned}
 z_{n,l} &= \frac{1}{[l]_q!} \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} \frac{(e_{q,\lambda}(t)-1)^r}{t^r} t^l \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} \\
 &= \binom{n}{l}_q \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} \frac{(e_{q,\lambda}(t)-1)^r}{t^r} \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 &= \binom{n}{l}_q \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} \frac{[r]_q!}{t^r} \sum_{j=r}^{\infty} S_{2,q}(j, r|\lambda) \frac{t^j}{[j]_q!} \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 (69) \quad &= \binom{n}{l}_q \sum_{j=0}^{n-l} \frac{[r]_q!}{[j+r]_q!} S_{2,q}(j+r, r|\lambda) \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} t^j \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 &= \binom{n}{l}_q \sum_{j=0}^{n-l} \frac{[r]_q! [j]_q!}{[j+r]_q!} \binom{n-l}{j}_q S_{2,q}(j+r, r|\lambda) \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} \middle| (x)_{n-l-j,\lambda} \right\rangle_{\lambda,q} \\
 &= \binom{n}{l}_q \sum_{j=0}^{n-l} \frac{\binom{n-l}{j}_q}{\binom{j+r}{r}_q} S_{2,q}(j+r, r|\lambda) \mathcal{B}_{n-l-j,q}^{(k)}(\lambda).
 \end{aligned}$$

Combining (68) with (69), we get the desired identity. □

Theorem 5. For $n \geq 0$ and $r, k \geq 1$, we have

$$\mathcal{B}_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n \left(\sum_{j=0}^r \frac{1}{2^r} \binom{n}{l}_q \binom{n}{j} \mathcal{B}_{n-l,q}^{(k)}(j|\lambda) \right) E_{l,q}^{(r)}(x|\lambda),$$

where $E_{n,q}^{(r)}(x|\lambda)$ are the degenerate q -Euler polynomials of order r .

Proof. We consider two λ - q -sheffer sequences as follows:

$$(70) \quad \mathcal{B}_{n,q}^{(k)}(x|\lambda) \sim \left(\frac{e_{q,\lambda}(t)-1}{\text{Li}_{k,q}(1-e^{-t})}, t \right)_{\lambda,q} \quad \text{and} \quad E_{n,q}^{(r)}(x|\lambda) \sim \left(\left(\frac{e_{q,\lambda}(t)+1}{2} \right)^r, t \right)_{\lambda,q}.$$

From (49) and (70), we have

$$(71) \quad \mathcal{B}_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n z_{n,l} E_{l,q}^{(r)}(x|\lambda),$$

where, from (52), we get

$$\begin{aligned}
 z_{n,l} &= \frac{1}{[l]_q!} \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} \left(\frac{e_{q,\lambda}(t)+1}{2} \right)^r t^l \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} \\
 &= \frac{1}{2^r} \binom{n}{l}_q \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} (e_{q,\lambda}(t)+1)^r \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 (72) \quad &= \frac{1}{2^r} \binom{n}{l}_q \sum_{j=0}^r \binom{n}{j}_q \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{e_{q,\lambda}(t)-1} e_{q,\lambda}^j(t) \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 &= \frac{1}{2^r} \binom{n}{l}_q \sum_{j=0}^r \binom{n}{j}_q \left\langle \sum_{m=0}^{\infty} \mathcal{B}_{m,q}^{(k)}(j|\lambda) \frac{t^m}{[m]_q!} \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 &= \frac{1}{2^r} \binom{n}{l}_q \sum_{j=0}^r \binom{n}{j}_q \mathcal{B}_{n-l,q}^{(k)}(j|\lambda).
 \end{aligned}$$

Thus, by (71) and (72), we get the desired identity. □

Theorem 6. For $n \geq 0, k \in \mathbb{Z}$, we have

$$\begin{aligned} \sum_{m=0}^{n-1} \binom{n}{m}_q (1)_{m,\lambda} [n-m]_q \mathcal{E}_{n-m-1,q}^{(k)}(\lambda) + [n]_q \mathcal{E}_{n-1,q}^{(k)}(\lambda) \\ = 2 \sum_{j=1}^n \frac{j! [n]_q!}{n! [j]_q!} (-1)^{n+j} S_2(n, j). \end{aligned}$$

Proof. By using (8) and (54), we observe that

$$\begin{aligned} (73) \quad 2\text{Li}_{k,q}(1 - e^{-t}) &= t(e_{q,\lambda}(t) + 1) \sum_{l=0}^{\infty} \mathcal{E}_{l,q}^{(k)}(\lambda) \frac{t^l}{[l]_q!} \\ &= t \left(\sum_{m=0}^{\infty} (1)_{m,\lambda} \frac{t^m}{[m]_q!} + 1 \right) \left(\sum_{l=0}^{\infty} \mathcal{E}_{l,q}^{(k)}(\lambda) \frac{t^l}{[l]_q!} \right) \\ &= \left(\sum_{m=0}^{\infty} (1)_{m,\lambda} \frac{t^m}{[m]_q!} + 1 \right) \left(\sum_{l=1}^{\infty} \mathcal{E}_{l-1,q}^{(k)}(\lambda) \frac{t^l}{[l-1]_q!} \right) \\ &= \sum_{n=1}^{\infty} \left(\sum_{m=0}^{n-1} \binom{n}{m}_q (1)_{m,\lambda} [n-m]_q \mathcal{E}_{n-m-1,q}^{(k)}(\lambda) + [n]_q \mathcal{E}_{n-1,q}^{(k)}(\lambda) \right) \frac{t^n}{[n]_q!}. \end{aligned}$$

On the other hand, from (65), we have

$$(74) \quad 2\text{Li}_{k,q}(1 - e^{-t}) = 2 \sum_{n=1}^{\infty} \left(\sum_{j=1}^n \frac{j! [n]_q!}{n! [j]_q!} (-1)^{n+j} S_2(n, j) \right) \frac{t^n}{[n]_q!}.$$

Therefore, by comparing the coefficients of (73) and (74), we get what we wanted. □

Theorem 7. For $n \geq 0$ and $k \geq 1$, we have

$$\mathcal{E}_{n,q}^{(k)}(x|\lambda) = \sum_{j=0}^n \sum_{l=1}^{n-j+1} \frac{[n]_q! l! (-1)^{n-j+l+1}}{[j]_q! [l]_q! (n-j+1)!} S_2(n-j+1, l) E_{j,q}(u|\lambda),$$

where $E_{n,q}(x|\lambda)$ are the degenerate q -Bernoulli polynomials.

Proof. By (12), (65) and Theorem 1, we observe that

$$\begin{aligned}
 \mathcal{E}_{n,q}^{(k)}(u|\lambda) &= \left\langle \frac{2\text{Li}_{k,q}(1-e^{-t})}{t(e_{q,\lambda}(t)+1)} e_{q,\lambda}^u(t) \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} \\
 &= \left\langle \frac{\text{Li}_{k,q}(1-e^{-t})}{t} \middle| \left(\frac{2}{e_{q,\lambda}(t)+1} e_{q,\lambda}^u(t) \right) (x)_{n,\lambda} \right\rangle_{\lambda,q} \\
 &= \sum_{j=0}^n \binom{n}{j}_q E_{j,q}(u|\lambda) \left\langle \frac{1}{t} \sum_{i=1}^{\infty} \sum_{l=1}^i \frac{l!(-1)^{l+i}}{i![l]_q!} S_2(i,l)t^i \middle| (x)_{n-j,\lambda} \right\rangle_{\lambda,q} \\
 (75) \quad &= \sum_{j=0}^n \binom{n}{j}_q E_{j,q}(u|\lambda) \left\langle \sum_{i=0}^{\infty} \sum_{l=1}^{i+1} \frac{l!(-1)^{l+i+1}}{(i+1)![l]_q!} S_2(i+1,l)t^i \middle| (x)_{n-j,\lambda} \right\rangle_{\lambda,q} \\
 &= \sum_{j=0}^n \binom{n}{j}_q E_{j,q}(u|\lambda) \sum_{l=1}^{n-j+1} \frac{l!(-1)^{n-j+l+1} [n-j]_q!}{(n-j+1)![l]_q!} S_2(n-j+1,l) \\
 &= \sum_{j=0}^n \sum_{l=1}^{n-j+1} \frac{[n]_q! l! (-1)^{n-j+l+1}}{[j]_q! [l]_q! (n-j+1)!} S_2(n-j+1,l) E_{j,q}(u|\lambda).
 \end{aligned}$$

From (75), we get the desired identity. □

Theorem 8. For $n \geq 0$ and $r, k \geq 1$, we have

$$\mathcal{E}_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n \left(\sum_{i=0}^n \frac{1}{2^r} \binom{n}{l}_q \binom{n}{i} \mathcal{E}_{n-l,q}^{(k)}(i|\lambda) \right) E_{l,q}^{(r)}(x),$$

where $E_{n,q}^{(r)}(x)$ are the degenerate q -Euler polynomials of order r .

Proof. We consider two λ - q -Sheffer sequences as follows:

$$(76) \quad \mathcal{E}_{n,q}^{(k)}(x|\lambda) \sim \left(\frac{t(e_{q,\lambda}(t)+1)}{2\text{Li}_{k,q}(1-e^{-t})}, t \right)_{\lambda,q} \quad \text{and} \quad E_{n,q}^{(r)}(x|\lambda) \sim \left(\left(\frac{e_{q,\lambda}(t)+1}{2} \right)^r, t \right)_{\lambda,q}.$$

From (49) and (76), we have

$$(77) \quad \mathcal{E}_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n z_{n,l} E_{l,q}^{(r)}(x),$$

where, by (54), we have

$$\begin{aligned}
 z_{n,l} &= \frac{1}{2^r [l]_q!} \left\langle \frac{2\text{Li}_{k,q}(1-e^{-t})}{t(e_{q,\lambda}(t)+1)} (e_{q,\lambda}(t)+1)^r t^l \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} \\
 &= \frac{1}{2^r} \binom{n}{l}_q \left\langle \frac{2\text{Li}_{k,q}(1-e^{-t})}{t(e_{q,\lambda}(t)+1)} (e_{q,\lambda}(t)+1)^r \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 (78) \quad &= \frac{1}{2^r} \binom{n}{l}_q \sum_{i=0}^r \binom{n}{i} \left\langle \frac{2\text{Li}_{k,q}(1-e^{-t})}{t(e_{q,\lambda}(t)+1)} e_{q,\lambda}^i(t) \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 &= \frac{1}{2^r} \binom{n}{l}_q \sum_{i=0}^r \binom{n}{i} \left\langle \sum_{j=0}^{\infty} \mathcal{E}_{j,q}^{(k)}(i|\lambda) \frac{t^j}{[j]_q!} \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\
 &= \frac{1}{2^r} \binom{n}{l}_q \sum_{i=0}^n \binom{n}{i} \mathcal{E}_{n-l,q}^{(k)}(i|\lambda).
 \end{aligned}$$

By (77) and (78), we get the desired identity.

□

Theorem 9. For $n \geq 0$ and $r, k \geq 1$, we have

$$\mathcal{E}_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n \left(\sum_{j=0}^{n-l} \frac{\binom{n}{l}_q \binom{n-l}{j}_q}{\binom{j+r}{r}_q} S_{2,q}(j+r, r|\lambda) \mathcal{E}_{n-l-j,q}^{(k)}(\lambda) \right) B_{l,q}^{(r)}(x|\lambda).$$

Proof. We consider two λ - q -Sheffer sequences as follows:

$$(79) \quad \mathcal{E}_{n,q}^{(k)}(x|\lambda) \sim \left(\frac{t(e_{q,\lambda}(t)+1)}{2\text{Li}_{k,q}(1-e^{-t})}, t \right)_{\lambda,q} \quad \text{and} \quad B_{n,q}^{(r)}(x|\lambda) \sim \left(\left(\frac{e_{q,\lambda}(t)-1}{t} \right)^r, t \right)_{\lambda,q}.$$

From (76) and (79), we have

$$(80) \quad \mathcal{E}_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n z_{n,l} B_{l,q}^{(r)}(x|\lambda),$$

Where, by (19) and (54), we have

$$\begin{aligned} z_{n,l} &= \frac{1}{[l]_q!} \left\langle \frac{2\text{Li}_{k,q}(1-e^{-t})}{t(e_{q,\lambda}(t)+1)} \frac{(e_{q,\lambda}(t)-1)^r}{t^r} t^l \middle| (x)_{n,\lambda} \right\rangle_{\lambda,q} \\ &= \binom{n}{l}_q \left\langle \frac{2\text{Li}_{k,q}(1-e^{-t})}{t(e_{q,\lambda}(t)+1)} \frac{[r]_q!}{t^r} \sum_{j=r}^{\infty} S_{2,q}(j, r|\lambda) \frac{t^j}{[j]_q!} \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\ (81) \quad &= \binom{n}{l}_q \sum_{j=0}^{n-l} \frac{[r]_q!}{[j+r]_q!} S_{2,q}(j+r, r|\lambda) \left\langle \frac{2\text{Li}_{k,q}(1-e^{-t})}{t(e_{q,\lambda}(t)+1)} t^j \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda,q} \\ &= \binom{n}{l}_q \sum_{j=0}^{n-l} \frac{\binom{n-l}{j}_q}{\binom{j+r}{r}_q} S_{2,q}(j+r, r|\lambda) \mathcal{E}_{n-l-j,q}^{(k)}(\lambda). \end{aligned}$$

Combining (80) with (81), we get the desired result. □

4. FURTHER REMARK

In this section, we consider new types of degenerate poly- q -Bernoulli polynomials and degenerate poly- q -Euler polynomials different from those introduced in Section 3.

For $k \in \mathbb{Z}$ and $0 \neq \lambda \in \mathbb{R}$, the degenerate polylogarithm functions are defined by

$$(82) \quad \text{Li}_{k,\lambda}(x) = \sum_{n=1}^{\infty} \frac{(-\lambda)^{n-1} (1)_{n, \frac{1}{\lambda}}}{(n-1)! n^k} x^n, \quad (\text{see [26, 32]}).$$

The compositional inverse $\log_{\lambda}(t)$ of $e_{\lambda}(t)$ is given by

$$(83) \quad \log_{\lambda}(t) = \sum_{n=1}^{\infty} \frac{\lambda^{n-1}}{n!} (1)_{n, \frac{1}{\lambda}} (t-1)^n, \quad (\text{see [26, 32]}).$$

From (82) and (83), we note that

$$\text{Li}_{1,\lambda}(x) = -\log_{\lambda}(1-x) \quad \text{and} \quad \lim_{\lambda \rightarrow 0} \text{Li}_{k,\lambda} = \text{Li}_k(x),$$

where $\text{Li}_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^k}$.

Now, we consider a new type of degenerate poly- q -Bernoulli polynomials defined by

$$(84) \quad \frac{\text{Li}_{k,\lambda}(1 - e_\lambda(-t))}{e_{q,\lambda}(t) - 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} \beta_{n,q}^{(k)}(x|\lambda) \frac{t^n}{[n]_q!}.$$

We note that $e_\lambda(-t) = e_{1,\lambda}(-t)$.

When $x = 0$, $\beta_{n,q}^{(k)}(\lambda) = \beta_{n,q}^{(k)}(0|\lambda)$ are called the degenerate poly- q -Bernoulli numbers.

When $q = 1$, we note that $\beta_{n,1}^{(k)}(x|\lambda) = B_{n,\lambda}^{(k)}(x)$ are the degenerate poly-Bernoulli polynomials of Kim-Kim's [26].

We also consider the degenerate poly- q -Euler polynomials defined by

$$(85) \quad \frac{\text{Li}_{k,\lambda}(1 - e_\lambda(-2t))}{t(e_{q,\lambda}(t) + 1)} e_\lambda^x(t) = \sum_{n=0}^{\infty} \xi_{n,q}^{(k)}(x|\lambda) \frac{t^n}{[n]_q!}.$$

When $x = 0$, $\xi_{n,q}^{(k)}(\lambda) = \xi_{n,q}^{(k)}(0|\lambda)$ are called the degenerate poly- q -Euler numbers.

When $k = q = 1$, $\xi_{n,1}^{(1)}(x|\lambda) = E_n(x|\lambda)$ are the degenerate Euler polynomials.

From (40), (84) and (85), we have two λ - q -sheffer sequences as follows:

$$(86) \quad \beta_{n,q}^{(k)}(x|\lambda) \sim \left(\frac{e_{q,\lambda}(t) - 1}{\text{Li}_{k,\lambda}(1 - e_\lambda(-t))}, t \right)_{\lambda,q}$$

and

$$(87) \quad \xi_{n,q}^{(k)}(x|\lambda) \sim \left(\frac{t(e_{q,\lambda}(t) + 1)}{\text{Li}_{k,\lambda}(1 - e_\lambda(-2t))}, t \right)_{\lambda,q}.$$

For $n \geq 0$, by using (8), (86) and (87) we note that

$$(88) \quad \beta_{n,q}^{(k)}(x|\lambda) = \sum_{j=0}^n \binom{n}{j}_q \beta_{n-j,q}^{(k)}(\lambda)(x)_{j,\lambda}$$

and

$$(89) \quad \xi_{n,q}^{(k)}(x|\lambda) = \sum_{j=0}^n \binom{n}{j}_q \xi_{n-j,q}^{(k)}(\lambda)(x)_{j,\lambda}.$$

From (46), (86) and (87), we have

$$(90) \quad \left(\frac{e_{q,\lambda}(t) - 1}{\text{Li}_{k,\lambda}(1 - e_\lambda(-t))} \right)_{\lambda,q} \beta_{n,q}^{(k)}(x|\lambda) = (x)_{n,\lambda}$$

and

$$(91) \quad \left(\frac{t(e_{q,\lambda}(t) + 1)}{\text{Li}_k(1 - e_\lambda(-2t))} \right)_{\lambda,q} \xi_{n,q}^{(k)}(x|\lambda) = (x)_{n,\lambda}.$$

In a similar way to Section 3, we can obtain the following theorems:

Theorem 10. For $n \geq 0$, $k \in \mathbb{N}$, we have

$$\beta_{n,q}^{(k)}(1|\lambda) - \beta_{n,q}^{(k)}(\lambda) = \sum_{j=1}^n \frac{(1)_{j,\lambda} (-1)^{n-1}}{j^{k-1}} \lambda^{j-1} S_{2,q}(n, j|\lambda).$$

Theorem 11. For $n \geq 0$ and $k \geq 1$, we have

$$\beta_{n,q}^{(k)}(x|\lambda) = \sum_{j=0}^n \sum_{l=1}^{n-j+1} \frac{[n]_q! (-1)^{n-j} \lambda^{l-1} (1)_{n, \frac{1}{\lambda}}}{[j]_q! (n-j+1)! (l-1)^{k-1}} S_{2,\lambda}(n-j+1) B_{j,q}(x|\lambda),$$

where $B_{n,q}(x|\lambda)$ are the degenerate q -Bernoulli polynomials.

Theorem 12. For $n \geq 0$ and $r, k \geq 1$, we have

$$\beta_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n \left(\sum_{j=0}^{n-l} \binom{n}{l}_q \binom{n-l}{j}_q \left(\binom{j+r}{r}_q \right)^{-1} S_{2,q}(j+r, r|\lambda) \beta_{n-l-j,q}^{(k)}(\lambda) \right) B_{l,q}^{(r)}(x),$$

where $B_{n,q}^{(r)}(x)$ are the degenerate q -Bernoulli polynomials of order r .

Theorem 13. For $n \geq 0$ and $r, k \geq 1$, we have

$$\beta_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n \left(\sum_{j=0}^r \frac{1}{2^r} \binom{n}{l}_q \binom{n}{j} \beta_{n-l,q}^{(k)}(j|\lambda) \right) E_{l,q}^{(r)}(x|\lambda),$$

where $E_{n,q}^{(r)}(x|\lambda)$ are the degenerate q -Euler polynomials of order r .

Theorem 14. For $n \geq 0, k \in \mathbb{Z}$, we have

$$\begin{aligned} \sum_{m=0}^{n-1} \binom{n}{m}_q (1)_{m,\lambda} [n-m]_q \xi_{n-m-1,q}^{(k)}(\lambda) + [n]_q \xi_{n-1,q}^{(k)}(\lambda) \\ = \sum_{j=1}^n \frac{(1)_{j, \frac{1}{\lambda}} (-1)^{n-1}}{j^{k-1}} \lambda^{j-1} 2^n S_{2,q}(n, j|\lambda). \end{aligned}$$

Theorem 15. For $n \geq 0$ and $k \geq 1$, we have

$$\xi_{n,q}^{(k)}(x|\lambda) = \sum_{j=0}^n \sum_{l=0}^{n-j+1} \frac{[n]_q! (-2)^{n-j} \lambda^{l-1} (1)_{n, \frac{1}{\lambda}}}{[j]_q! (n-j+1)! (l-1)^{k-1}} S_{2,\lambda}(n-j+1, l) E_{j,q}(u|\lambda),$$

where $E_{n,q}(x|\lambda)$ are the degenerate q -Bernoulli polynomials.

Theorem 16. For $n \geq 0$ and $r, k \geq 1$, we have

$$\xi_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n \left(\sum_{i=0}^n \frac{1}{2^r} \binom{n}{l}_q \binom{n}{i} \xi_{n-l,q}^{(k)}(i|\lambda) \right) E_{l,q}^{(r)}(x),$$

where $E_{n,q}^{(r)}(x)$ are the degenerate q -Euler polynomials of order r .

Theorem 17. For $n \geq 0$ and $r, k \geq 1$, we have

$$\xi_{n,q}^{(k)}(x|\lambda) = \sum_{l=0}^n \left(\sum_{j=0}^{n-l} \frac{\binom{n}{l}_q \binom{n-l}{j}_q}{\binom{j+r}{r}_q} S_{2,q}(j+r, r|\lambda) \xi_{n-l-j,q}^{(k)}(\lambda) \right) B_{l,q}^{(r)}(x|\lambda).$$

5. CONCLUSION

In this paper, we introduced degenerate poly q -Bernoulli polynomials and degenerate poly- q -Euler polynomials. As applications of λ - q -Sheffer sequences, the degenerate poly q -Bernoulli polynomials are represented by a finite linear combination of the degenerate q -Bernoulli polynomials in Theorem 3, degenerate q -Bernoulli polynomials of order r in Theorem 4, and degenerate q -Euler polynomials of order r in Theorem 5. The degenerate poly q -Euler polynomials are also represented by a finite linear combination of the degenerate q -Euler polynomials in Theorem 7, and degenerate q -Bernoulli polynomials of order r in Theorem 9. For future projects, we would like to study many more interesting combinatorial identities and properties related to the degenerate poly q -Bernoulli polynomials and the degenerate poly- q -Euler polynomials considered in this paper.

Acknowledgments

The authors thank Jangeon Institute for Mathematical Science for the support of this research.

Availability of data and material

Not applicable.

Funding

The third author of this work is supported by the Basic Science Research Program, the National Research Foundation of Korea, (NRF-2021R1F1A1050151).

Ethics approval and consent to participate

All authors declare that there is no ethical problem in the production of this paper.

Competing interests

All authors declare no conflict of interest.

Consent for publication

All authors want to publish this paper in this journal.

Author' Contributions

All authors contributed equally to this work.

REFERENCES

- [1] Açıkgöz, M.; Erdal, D.; Araci, S. *A new approach to q -Bernoulli numbers and q -Bernoulli polynomials related to q -Bernstein polynomials*. Adv. Difference Equ. (2010), Art. ID 951764, 9 pp.
- [2] Açıkgöz, M.; Ates, R.; Duran, U.; Araci, S. *Applications of q -umbral calculus to modified apostol type q -Bernoulli polynomials*. J. Math. Statistics **14**(1) (2018), 7-15, DOI: 10.3844/jmssp.2018.7.15.
- [3] Bayad, A.; Hamahata, Y. *Polylogarithms and poly-Bernoulli polynomials*. Kyushu J. Math. **65**(1) (2012), 15-24, DOI:10.2206/kyushujm.65.15.
- [4] Bayad, A.; Kim, T. *Identities involving values of Bernstein, q -Bernstein, q -Bernoulli, and q -Euler polynomials*. Russ. J. Math. Phys. **18** (2011), no.2, 133-143.
- [5] Carlitz, L. *Degenerate Stirling, Bernoulli and Eulerian numbers*. Utilitas Math. **15** (1979), 51-88.
- [6] Carlitz, L. *q -Bernoulli numbers and polynomials*. Duke Math. J. **15** (1948), 987-1000.
- [7] Cenkci, M.; Komatsu T. *Poly-Bernoulli numbers and polynomials with a q parameter*. Journal of Number Theory. **152** (2015), 38-54, <http://dx.doi.org/10.1016/j.jnt.2014.12.004>.
- [8] Dere, R.; Simsek, Y. *Applications of umbral algebra to some special polynomials*. Adv. Stud. Contemp. Math. (Kyungshang) **22**(3) (2012), 433-438.
- [9] Duran, U.; Acikgoz, M.; Araci, S. *Construction of the type 2 poly-Frobenius Genocchi polynomials with their certain applications*. Adv. Differ. Equ. **2020** (2020), Paper No. 432.
- [10] Hamahata, Y. *Poly-Euler polynomials and Arakawa-Kaneko type zeta functions*. Functiones et Approximatio, **51**(1) (2014), 7-22, DOI:107169/facm/2014:51.1.1.

- [11] Hardy, G.H. *On a class a functions*. Proc. Lond. Math. Soc. **3(2)** (1905), 441-460.
- [12] Ihrig, E. C.; Ismail, M. E. H. *A q -umbral calculus*. J. Math. Anal. Applic. **84** (1981), 178-207.
- [13] Ismail, M. E. H.; Rahman, M. *Inverse operators, q -fractional integrals, and q -Bernoulli polynomials*. J. Approx. Theory **114** (2002), no. 2, 269-307.
- [14] Jang, L.-C.; Kim, D. S.; Kim, H.; Kim, T.; Lee, H. *Study of Degenerate Poly-Bernoulli Polynomials by λ -umbral Calculus*. CMES **129** (2021), No.1, pp. 393-408. DOI:10.32604/cmcs.2021.016917
- [15] Kim, D.S.; Kim, T. *Degenerate Bernstein polynomials*. RACSAM **113** (2019), 2913-2920.
- [16] Kim, D. S.; Kim, T. *A note on a new type of degenerate Bernoulli numbers*. Russ. J. Math. Phys. **27** (2020), no. 2, 227-235.
- [17] Kim, D. S.; Kim, T. *Degenerate Sheffer sequence and λ -Sheffer sequence*. J. Math. Anal. Appl. **493(1)** (2021), 124-521.
- [18] Kim, D. S.; Kim, T. *q -Bernoulli polynomials and q -umbral calculus*. Sci. China Math. **57** (2014), 1867-1874.
- [19] Kim, D. S.; Kim, T. *Some identities of q -Euler polynomials arising from q -umbral calculus*. J. Ineq. Appl. **2014:1** (2014), 12pp.
- [20] Kim, D. S.; Kim, T.; Mansour, T.; Seo, J.-J. *Fully degenerate poly-Bernoulli polynomials with a q parameter*. Filomat **30:4** (2016), 1029-1035, DOI:10.2298/FIL1604029K.
- [21] Kim, H. K.; Kim, T. *Poly-central factorial sequences and poly-central-Bell polynomials*. Adv. Difference Equ. **2021:505** (2021), 12pp, <https://doi.org/10.1186/s13662-021-03663-8>.
- [22] Kim, T. *A note on degenerate Stirling polynomials of the second kind*. Proc. Jangjeon Math. Soc. **20(3)** (2017), 319-331.
- [23] Kim, T. *q -Bernoulli numbers associated with q -Stirling numbers*. Adv. Difference Equ. **2008** (2008), Article ID 743295, pp10.
- [24] Kim, T. *q -Generalized Euler numbers and polynomials*. Russ. J. Math. Phys. **13** (2006), 293-298.
- [25] Kim, T. *q -Bernoulli numbers and polynomials associated with Gaussian binomial coefficients*. Russ. J. Math. Phys. **15** (2008), no. 1, 51-57.
- [26] Kim, T.; Kim, H. K. *Degenerate poly-Bell polynomials and numbers*. Adv. Difference Equ. **2021:361** (2021), 12pp, <http://doi.org/10.1186/s13662-021-03500-6>.
- [27] Kim, T.; Kim, D. S.; Kim, H. K. *On q -derangement numbers and polynomials*. to appear in Fractals.
- [28] Kim, T.; Kim, D. S.; Kim, H. K. *λ - q -Sheffer sequences and its applications*. DOI: 10.13140/RG.2.2.14904.62721.
- [29] Kim, T.; Kim, D. S.; Lee, H.; Kwon, J. *Degenerate binomial coefficients and degenerate hypergeometric functions*. Adv. Difference Equ. **2020:115** (2020).
- [30] Kim, T.; Kim, D. S.; Kwon, J.; Lee, H. *A note on degenerate gamma random variables*. Revista Edu. **38894** (2020), 39-44.
- [31] Kim, T.; Kim, D. S.; Lee, H.; Park, S.; Park, J. W. *A study on λ -Sheffer sequences by other λ -Sheffer sequences*. J. Nonlin. Convex Anal. **23(2)** (2022), 321-336.
- [32] Kim, T.; Kim, D. S.; Kim, H. Y.; Jang, L.C. *Degenerate poly-Bernoulli numbers and polynomials*. Informatica **31(3)**, 1-7. (2020)
- [33] Kim, T.; Kim, D. S.; Kim, H.-Y.; Lee, H.; Jang, L.-C. *Degenerate Bell polynomials associated with umbral calculus*. J. Inequal. Appl. (2020), Paper No. 226, 15 pp.
- [34] Kim, Y. R.; Lee, H. Y.; Kim, A. *A note on q -analogue of poly-Euler polynomials and Arakawa-Kaneko type zeta function*. J. Appl. Math Informatics **38** (2020) No.5-6, 611-623.
- [35] Komatsu, T.; Ramírez, J. L.; Sirvent, V. F. A *(p, q) -analogue of poly-Euler polynomials and some related polynomials*. arXiv:1604.0378v1, (2016).
- [36] Kupersmidt, B. O. *Reflection symmetries of q -Bernoulli polynomials*. J. Nonlinear Math. Phys. **12** (2005), suppl. 1, 412-422.
- [37] Lee, D. S.; Kim, H. K.; Jang, L. C. *Type 2 degenerate poly-Euler polynomials*. Symmetry. **2020:1011** (2020), 15pp, DOI:10.3390/sym12061011.
- [38] Mahmudov, N. I. *On a class of q -Bernoulli and q -Euler polynomials*. Adv. Difference Equ. **2013:108** (2013).
- [39] Mechacha, M.; Boutiche, M. A.; Rahmani, M.; Behloul, D. *Some results for q -poly-Bernoulli polynomials with a parameter*. Miskolc Math. Notes. **19** (2018), no.1, 355-363, DOI:10.18514/MMN.2018.2435.
- [40] Roman, S. *More on the umbral calculus, with emphasis on the q -umbral calculus*. J. Math. Anal. Appl. **107** (1985), 222-254.
- [41] Roman, S.; Rota, G. *The umbral calculus*. Adv. Math. **27** (1978), 95-188.
- [42] Takao Komatsu; José L. Ramírez; Víctor F. Sirvent. *A (p, q) -analogue of poly-Euler polynomials and some related polynomials*. arXiv:1604.0378v1. **13** (2016).

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA
E-mail address: kwangwoonmath@kw.ac.kr

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA
E-mail address: dskim@sogang.ac.kr

DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU CATHOLIC UNIVERSITY, GYEONGSAN 38430, REPUBLIC OF KOREA
E-mail address: hkkim@cu.ac.kr